Chapter 24 Earnings per Share
Answer 1
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Answer 3
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Answer 4
(a)
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Earnings $13.8m, therefore EPS = 13.8/57.5 = 24c
Comparative

The EPS for 20X3 would be restated to allow for the dilutive effect of the bonus issue as follows:

25c × 48/60* = 20c
* Existing shares + new issue = 48

Existing shares + new issue + bonus issue = 60
Note that the 8m shares issued at full price are non-dilutive and are therefore added to both sides of the fraction.
Year ended 31 March 20X5

'2 for 5' rights issue takes place halfway through the year and results in 24m additional shares.
Weighted average number of shares calculated as follows:
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Earnings $19.5m, therefore EPS = 19.5/78 = 25c
Comparative

The EPS for 20X4 is now restated following the rights issue in October 20X4 as follows:

24c × Theoretical ex-rights price (W)/Market price = 24c × 2/2.40 = 20c
Working
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(b)
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Answer 5
(a)

Dividend cover

Dividend cover describes how many times the equity dividend is covered by the profits attributable to the owners. A high ratio (say above three) means that the company could maintain its present level of dividend even if profits were to fall in future years; this makes the company attractive to some investors because there is a lower risk of a reduction in investment income. If this ratio is low (say less than 2) then any reduction in profits could easily lead to a forced reduction in the level of equity dividend. This increases the risks of investing in the company, and makes the company less attractive to investors. A ratio below 1 means that the company is using previous year's profits to pay this year's dividend. This is unsustainable in the long run.
Niagara's dividend cover is 2.02. This is not in the danger zone, but it is unspectacular. Although Niagara may not have to reduce its dividend unless profits halve, there is no room for increasing the dividend unless profits rise.
Workings

Niagara's draft accounts show a $2,585,000 profit attributable to the equity holders, but this is before accounting for the preference dividends. The revised profit attributable to the equity shareholders is as follows:
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Niagara has declared two equity dividends for the year. The interim dividend was paid to its original shareholders, but the final dividend will also be paid to the new shares arising from the one-for-five rights issue:
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(b)
Basic EPS

This is the profits attributable to the owners of the parent divided by the weighted average number of ordinary shares outstanding during the period. This year's calculation takes into account the rights issue half way through the year. Last year's reported EPS of 24c will have to be adjusted for the bonus element of the rights issue.
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(c)

Diluted earnings per share

Investors need to be aware of circumstances that might reduce earnings per share in the future. Diluted EPS measures the effect that existing commitments might have on future EPS. The two examples in this question are typical:
· When the convertible loan stock is converted into ordinary shares there will be an increase in the number of shares that the earning must be shared between. However, there will also be an increase in available earnings because the loan interest will no longer be paid.

· When the directors receive their free shares in 20X5 there will also be an increase in the number of equity shares, but this time with no compensating increase in profits.
The net effect of increases in profits and shares can increase or reduce EPS. If the diluted EPS is less than the basic EPS then it must be reported in the financial statements.
Niagara's fully diluted EPS is 16.5 cents, about 7% less than the basic EPS of 17.7 cents. This is not a prediction of what Niagara's EPS will be in 20X5, merely an illustration of how this year's profits would have been shared had these events already taken place. It serves to warn investors of the effects of existing obligations to issue shares.
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Answer 6
(a)

Two important and interrelated aspects of relevance are its confirmatory and predictive roles. The Framework specifically states that to have predictive value, information need not be in the form of an explicit forecast. The serious drawback of forecast information is that it does not have (strong) confirmatory value; essentially it will be an educated guess.
HKFRS examples of enhancing the predictive value of historical financial statements are:
(i)
The disclosure of continuing and discontinued operations. This allows users to focus on those areas of an entity’s operations that will generate its future results. Alternatively it could be thought of as identifying those operations which will not yield profits or, perhaps more importantly, losses in the future.

(ii)
The separate disclosure of non-current assets held for sale. This informs users that these assets do not form part of an entity’s long-term operating assets.

(iii)
The separate disclosure of material items of income or expense (e.g. a gain on the disposal of a property). These are often ‘one off’ items that may not be repeated in future periods. They are sometimes called ‘exceptional’ items or described in the Framework as ‘unusual, abnormal and infrequent’ items.

(iv)
The presentation of comparative information (and the requirement for the consistency of its presentation such as retrospective application of changes in accounting policies) allows for a degree of trend analysis. Recent trends may help predict future performance.

(v)
The requirement to disclose diluted EPS is often described as a ‘warning’ to shareholders of what EPS would have been if any potential (future) equity shares such as convertibles and options had already been exercised.

(vi)
The Framework’s definitions of assets (resources from which future economic benefits should flow) and liabilities (obligations which will result in a future outflow of economic benefits) are based on an entity’s future prospects rather than its past costs.
Note: other examples may be acceptable.
(b)(i)
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(b)(ii)
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The diluted EPS should exclude discontinued operations (HKAS 33, para 66), however, the discontinued EPS can be disclosed as an additional item either on the face of the statement of comprehensive income or in the notes to the financial statements (HKAS 33, para 68).
Workings (figures in brackets are in ’000 or $’000)

The earnings are calculated as follows:
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Convertible loan stock:

On an assumed conversion there would be an increase in income of $280,000 ($5,000 x 8% x 0·7 after tax).
There would be an increase in the number of shares of 2 million ($5,000/$100 x 40)
These adjustments would apply fully to both years.

Share options:

Exercising the options would create proceeds of $2 million (2,000 x $1). At the market price of $2·50 each this would buy 800,000 shares ($2,000/$2·50) thus the diluting number of shares is 1·2 million (2,000 – 800).
This would be weighted for 6/12 in 2011 as the grant was half way through the year.
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